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PROVISIONAL ANSWER KEY

Paper: 079 - Book-keeping (Theory and Practical)
Date of Test 28-11-2024
Questionl:-Liabilities =

OB =
A:-Assets - Capital
@RMleud - gaiwme
B:-Assets + Capitals
ARMleud + gaiwmeanud
C:-Assets + Expenses
aRMleud + 6ariqeud
D:-None of the above
@D AlOOMAIOWITBAL)
Correct Answer:- Option-A
Question2:-Income =
Q@AIMo =
A:-Cost + Expense
gele + ealial
B:-Cost - Expense
el - ealeial
C:-Revenue - Expense
QI@AIMo — S.alelaf
D:-None of the above
HE®W AlOFOMAIOWIMRAL)
Correct Answer:- Option-C
Question3:-Amount which the firm owes to outsiders is known as
MUN%aIMe oJOEDMIME8AIALS MegETE Db M@0,
A:-Expenses
02121003
B:-Liability
ENUOWN®
C:-Goods
LOWMEBRUY
D:-Assets
@RMEB
Correct Answer:- Option-B
Question4:-Revenue means the income of a nature.
QIBRAIMo af)NITD QITBRIMo af)MNIEM @RABBNAILBINT
A:-Once in a year
QABHODIG BG@lETD
B:-Regular or recurring
aldlal eregEl@d ERIBEmM
C:-Non recurring
@R)AUBOT @
D:-Fixed
Tlunioily
Correct Answer:- Option-B
Question5:-The persons who owe some amount to the business are termed as
enflndlnqlay’ &:0.4] @& eskgleqes ayeclees agm’ aflglesmm
A:-Creditors
o@lege
B:-Shareholders
60006 DSABUB
C:-Partners
alg0gld: 03
D:-Debtors
eweniegy
Correct Answer:- Option-D
Question6:- are those assets which have a physical existence and which can be seen or felt.
af)M@ EVH20Q @RMIGISBDo B06MIEMI @RMEAIIEMI BFlQM @RMlegosm.
A:-Patents
GaIQMBQHBUY
B:-Tangible assets
A@mNR0©Q remm)gga,ua
C:-Intangible assets
@PGUBYAOQ) BRAVOBUB
D:-None of the Above
AHEI alOFDAOWITRREY
Correct Answer:- Option-B

Question7:-Stock held by the business is an example of asset.
enflnlmm@ildeo ee5Iess eTRIEs @RMLGIMBOO BB OBIADEEMRIET.

A:-Fixed asset
audle @eaug’
B:-Non-current
BSOMT @O
C:-Current
HHOMA
D:-None of the above
QBT alOATHAIOQOMoRS)
Correct Answer:- Option-C
Question8:- is the cost incurred in producing goods and services.
AN 2lEERM:Go BTLQIMEIBEo 2@adlaflesamnaimgs e alaiaemy
A:-Drawings
QSIS HYNT)
B:-Capital
QeIwme
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C:-Expenses
©.21810Jd 03

D:-Income
Q@AM

Correct Answer:- Option-C
Question9:-Convention of

A:-Consistency
audle®
B:-Materiality
BODB®
C:-Full disclosure
o3RO OGO
D:-Dual aspect
DES QB
Correct Answer:- Option-A

Question10:-Everything a firm owns, it also owes out to somebody. This coincidence is explained in the
8@ MLNAIMETIBO0 OsAMNIASsemEI0., @R @RYEEINSEIR) &S SIElermM. D IGURIE:®

A:-Consistency
audle®

B:-Dual aspect
DES QU

C:-Going concern
@R)UOB-BSIERIED Bald:MD

D:-Money measurement
alfMo @OSEHTD

Correct Answer:- Option-B

Question11:-Recognition of cost in the same period as associated revenue is called
O ag)m’ Aflgdlesam.

MITWEO5 AGBRIMOTIMBOO @RE® 018l 6.alral Gl6lydlQmalem
A:-Going concern
@RURBICRIES EaldE:MD
B:-Dual aspect
DS QLB
C:-Business entity
enflondlmn@y’ rundalme
D:-Matching
)00
Correct Answer:- Option-D
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requires that the same accounting methods should be used from one accounting period to the next.

B GREVENELU) H0RIVBO! HO@ BRFTMD® QAUEO BEO BREDENELU) AlTllt:ud Daleouilensmenaty BEMOAUMBUMB @RI AFT.

concept.
@RUOBIG alluedls@lsfldlesme.

principle.

Question12:-Accounting of printer cartridge as an expense and not as an asset is the convention of

@808 HoSlWE B 6212101000 HEMENIEBMD, BTG ERMVQIVISE)
A:-Full disclosure

oJB6R20® eGSO
B:-Historical cost

AIRl@ale20® aflloial
C:-Consistency

)M SHEMOQUMHD

audle®
D:-Materiality
saglclooaid
Correct Answer:- Option-D
Questionl13:-Rent paid account is a account.
QISHY' alfMAS 88 @OEDVENE B3 @REDDENRO6M.

A:-Nominal account
MIVAN@ROQ BRSNS
B:-Personal account
QBOIN® @REDENE
C:-Real account
@INOBON @REDENE
D:-Business liability
enflondlmnqy’ sniowy®
Correct Answer:- Option-A
Questionl4:-Salary outstanding is a
Mg &Slygle 6 @6y,
A:-Real account
QLOIBON @REHDENE
B:-Personal account
QBOIN® @REDENE
C:-Nominal account
MIRV@OBOW @OEDENE
D:-None of the above
QAHEI alOFDAUOWITRREY
Correct Answer:- Option-B
Question15:-"Debit what comes in" and "Credit what goes out" is the rule for
" @M HWIY Bage", "oJosOmE CalBmM® GWIY Oalgys” agmmosy
A:-Real account
@LNIBON @REHDENE
B:-Nominal account
MIDDI@RIW BROEDENE
C:-Personal account
QBTN @REDEIE
D:-Income account
QIBAIM GREHDENE
Correct Answer:- Option-A
Question16:- is allowed to the customers for making prompt payment.
2sms] altMasYM@TY ©alGRISMIUBE @oroaid afldlasme.
A:-Trade discount
GsaW’ awlayoeng’
B:-Gift

aLEBIMo

account.

@REHVEMTEIMBHO M@0,
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C:-Cash Discount
Byot awllaryoeng’
D:-None of the above
AHEI alOFDAOWITRREY
Correct Answer:- Option-C
Question17:-If a trader sells goods of the list price of Rs. 40,000 at 10% Trade discount and 2% cash discount, the net amount to be paid in cash is

8@ alaid 40,000 @aiges elqy aleiss mowmsanud 10% esay adlagoendaj, 2% @pad aslayoendale alldese:oesmesod, Mmool @RSERETE 6aTme Db @M.
A:-Rs. 35,280
35,280 @
B:-Rs. 36,000
36,000 @a!
C:-Rs. 39,200
39,200 @
D:-Rs. 32,000
32,000 @a!

Correct Answer:- Option-A
Question18:-If the effect of one error is neutralized by the effect of some other error, such errors are called
8@ allalBeo ek acgemslale allealBeo anaimocd mdaley@ossiwocs, allc agamy allglesam.
A:-Errors of principle
OOIovIea! alltod:e:ud
B:-Errors of commission
Sedlatmlenl allod:dud
C:-Errors of commission
Sofladmleal allws:eud
D:-Compensating error
afleal’ ai@laoa@lenmo
Correct Answer:- Option-D
Question19:-When a revenue expenditure is treated as capital expenditure, itisa___
6@ Iy ©.a18101 GRILM ©.21RIANWS GHEMENIBREMIUD, @@ @oerm.
A:-Compensating error
afleal ai@landlesamo
B:-Error of Omission
adlaneelien alvos
C:-Error of principle
OOIOBIMBOO allvos
D:-None of the above
G AlOFTMAIOWIMRRG)
Correct Answer:- Option-C
Question20:-Rs. 10,000 paid for the erection of a new machinery is a
6@ oJol@ 62edllmdl muodaleamalm mmelw 10,000 @a @erm.
A:-Revenue expenditure
oQimy ealelal
B:-Capital expenditure
Qaiwm earial
C:-Deferred revenue expenditure
20gleals) oaimy ealeial
D:-Liability
ENIOWYD®
Correct Answer:- Option-B
Question21:-Advertisement expenditure of Rs.1,00,000 is an example of
1,00,000 @aiges aremuge geial @ 8O BEOEEMAEN.
A:-Revenue expenditure
oQimy ealolal
B:-Capital expenditure
QeIWm ealelal
C:-Deferred revenue expenditure
20¢leqls) oaimy a1l
D:-Non recurring expenditure
aradommalgjoom ealial
Correct Answer:- Option-C
Question22:-Find out the gross profit or gross loss from the following:
Opening stock Rs.40,000, Purchase returns Rs.12,000,
Purchase Rs.2,00,000, Sales returns Rs.20,000,
Sales Rs.5,00,000, Freight Rs.6,500,
Closing stock Rs.60,000, Wages Rs.50,000.

oM@ Tl ©RIC I0EEA0 HAODT MAYED) GHEOEMRIDE:.
60a 6oy equoes’ 40,000 @al,  aidegymy dlegend 12,000 @a,
aldegmy’ 2,00,000 @a, emaladmy dlegemday 20,000 @al,
alladajmn 5,00,000 @y, alee’ 6,500 @al,
egomlowy eqyoss’ 60,000 @al,  @e 50,000 @a
A:-GP Rs. 2,55,500
GP 2,55,500 @1
B:-GL Rs. 2,75,600
GL 2,75,600 @«
C:-GP Rs. 2,68,500
GP 2,68,500 @
D:-GP Rs. 2,75,500
GP 2,75,500 @«
Correct Answer:- Option-A
Question23:-Office and administrative expenses such as salary of office employee, postage, printing, etc. will be shown in the
&9adlny’ HlaimEIeme0 mIgs, ®ald@, @Mdlu) goel@Al eale)es Boadmy, @rllmlerydlal eariqie:ud @3 060,
A:-Debit side of trading account
ety @RENDMEIMe0 eaweniy Qoo
B:-Credit side of P & L account
P & L @rasosrdadeo e@uly aiwoe
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C:-Debit side of P & L account
P & L @oasoerdaden eawenid aiwse
D:-Balance sheet only
eruoaIBmy «elidl@d ao@o
Correct Answer:- Option-C
Question24:-Goodwill is asset.
o ofled @RAVQIET.
A:-Current
SHOMA
B:-Tangible
somdedlenflid
C:-Liquid
efleloy
D:-Intangible
epmdsomdedlenilud
Correct Answer:- Option-D
Question25:-Income received in the current year but which belongs to the next year is known as 'Unearned Income' and will be shown in the
side.
(TlSquJ(ﬁn%e 21E3/@o ag)MOT BRSO QIBHUCIMEBBS AUBDIMo 'BRGIWOISIOD QAUWBIMe' af)MAWOIFMD, @O QUMDY 060,
A:-Balance sheet asset
eruoaImBmy’ cadflg’ @oeaug’
B:-Balance sheet liability
snuoaImBmy «ellg’ enowy
C:-Manufacturing account credit
20098 alGlouY @REDETE GG
D:-Trading account debit
esalouY @REnDeNE Oawenily’
Correct Answer:- Option-B
Question26:-The cost price of a machinery purchased on 1 April 2012 was Rs.1,00,000. The depreciation is to be provided in written down value
method at 10%. The list value of machinery as on 31st March 2016, will be
2012 ag@j@d 1-a¥ anedle e @@osiaeo aler 1,00,000 @awodiame. geyoedal 10% agam dolola ogeolonssie dolalensm maesimea. 2016 aodaf 31-av
w@rvadleges ellqy gele @RW@|ER0.
A:-Rs.60,000
60,000 @a!
B:-Rs.85,000
85,000 @
C:-Rs.65,610
65,610 @a!
D:-Rs.62,500
62,500 @
Correct Answer:- Option-C
Question27:-The cost price of a car was Rs. 5 lakhs as on 1 April, 2015. Depreciation is to be provided at 15% on straight line method. The book
value as on 31st March 2018 will be
2015 agefcd 1-a¥ s00lBe0 aflal 5 it @Gaowlam. &My eeaim eacomW @0 15% gaiomads m@aem.. 2018 m0d4 31-6a1 ajoye gel o®mowides..
A:-Rs.2,75,000
®@.2,75,000
B:-Rs.3,50,000
@.3,50,000
C:-Rs.3,61,250
®@.3,61,250
D:-Rs.3,07,062
®@.3,07,062
Correct Answer:- Option-A
Question28:-The term refers to writing off the proportionate value of patents, copyrights, trademarks, goodwill, etc.
CaIQMQBUB, aldBjl0u06ERUS, (UPaDEYGHWB, VU Al YDLVWAUIYES EHMNTIHAIW Gale of)gTCDSSMGOMm g alBe Myaflaflenm.
A:-Depletion
GUOIAHEMo
B:-Dilapidation
afldemocurun
C:-Amortization
@REAIBEOOFETVAUM
D:-Obsolescence
B0RIaNEEMBESE3
Correct Answer:- Option-C
Question29:-The most apt method of depreciation for oil-wells, quarries etc. is
AREREFIEMQBB, H1001H:03 YORIDAIY afQQJo GRMEWILIRIW FRNBUBIAHEM Gl @6,
A:-Straight line method
06mg 6618 Ao
B:-Depletion method
Wlgflaud Sl
C:-Diminishing value method
el SO dli
D:-Amortization method
@PEDIBEOFETVAHUM @@
Correct Answer:- Option-B
Question30:-A machinery was purchased for Rs.70,000. Rs.5,000 was spent immediately as installation charges. It is estimated that it will have a
serviceable life of 10 years and at the end it will have a scrap value of Rs.10,000. The depreciation to be charged each year is Rs.
8@ o2a:lmndl 70,000 @Gaig anerdl. 5,000 @l adqyeeinum@ 0d@00] 5@ earindl. oolay 10 adaeom srvamalalem. 96moseame. @raimdme @e@Im@e el gele
10,000 @n1oowidleneamo 6@, (060 ABHAe EIVSICEHETE PRIOmSBAa) @RE.
A:-Rs. 5,500
5,500 @a!
B:-Rs. 7,000
7,000 @a
C:-Rs. 1,000
2,000 @a!
D:-Rs. 6,500
6,500 @
Correct Answer:- Option-D
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Question31:-
M@ BB HNITIQSS afgyo QITBAIMEBBEo B)21R1Q)dSo @BAWla]Esm 8@ @IMROQIM@IET.
A:-Income statement
Q@AM @(‘r&gomm
B:-Cash flow statement
AlEMeRYES (@JTYIUM
C:-Trading account
esWlot) @REDEME
D:-Balance sheet
sruoaImBmy’ caflg’
Correct Answer:- Option-A
Question32:-The main purpose of Financial Accounting is
adlmMoMBasy@d @OEDEMELUIMO0 JUWOM LldHe @6,
A:-To maintain balance sheet
enuoaImmy «ellg’ aleimldomond
B:-To maximize profit
210@0 alEBINIWIIHBIM
C:-To minimize taxes
M@l S0y
D:-To provide financial information to stakeholders
alt0g] B 03Es MomMIEDIe: QllaiEERUE M@G:M@ITY
Correct Answer:- Option-D
Question33:-Asset accounts have
@RIVY @R DEHUBL 6NI0RIMBMY D6NE.
A:-Debit
ecwsnily
B:-Credit
@G
C:-No balance
enioeIBmy’ eogy
D:-(1) or (2) above
geglcd aosom (1) @pegyelod (2)
Correct Answer:- Option-A
Question34:-
M@ @Rl Mvaooleeslcd ©l6lgseRim @EOTIAES $HSaoem.
A:-Current liabilities
dleiallear snowms:u3
B:-Fixed liabilities
alualo enowimeud
C:-Tangible assets
QACHROW BRAVQEUY
D:-Goodwill
o alled
Correct Answer:- Option-A
Question35:- is a supporting evidence in a business transaction.
M@ 8@ snimilmmy’ osalsleal 8@ MANI e®Elae.
A:-Ledger
erIuwRad
B:-Journal
CREM@D
C:-Voucher
Q@
D:-Cashbook
B§0aienEs
Correct Answer:- Option-C
Question36:- is a book of primary entry.
BB ald @BAUWM oJTYSAE.
A:-Ledger
erIuRad
B:-Journal
GREM@D
C:-Voucher
Q@
D:-Bank statement
61108’ EIRYFHRMO’
Correct Answer:- Option-B
Question37:-When are balance sheets prepared?
Q)GajoPIEITY 6nIoRImBMY’ n&ﬂ(q?&b(/ﬁ ©QIOIERMD®?
A:-Bi-monthly
0631206,
B:-Quarterly
£6@aOMVH
C:-Monthly
(@ollmoav
D:-Yearly
QUBHED®OQo
Correct Answer:- Option-D
Question38:-Type of expenses that are due but not paid are
&SIFHQBBDo 0fMIT MWSICODAOQ) ©2IRIQ)BHSOS ®Oo
A:-Assets
remm)gg@,ua
B:-Pre-Paid Expenses
@J-eaiw) BalRIqye:0d
C:-Outstanding Expenses
&SI gl 621010603
D:-Commission
&ooflaud
Correct Answer:- Option-C

balance.
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is a statement which displays all revenues and expenses of a company.

are the kind of debts which are needed to be repaid in a short time.
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Question39:-A line of credit that covers your transactions if your bank balance drops is known as
TleEBEeSs Ioms IoeImY GOQYBH@ISFMEIM MlEBEes Dsangeud 2UBOE®OSEM BT @Y o6aIm

A:-Bank overdraft
61108 630QUBELIG

B:-Fixed deposit
adlgow’ alleajpomile

C:-Credit rating
@Y eoglouy

D:-Bank charges
61108 210@e0ed’

Correct Answer:- Option-A
Question40:-Which ratio is to the advantage of creditors?
AB® @RPAIOMAET GSENIBES (QJERILMBHEBIMIN® T

A:-Liquid assets ratio
B0 @MY @M

B:-High inventory ratio
2WAM HMEAUMOC] @M.

C:-Lower debt equity ratio
B0 HOWG OBAG] @M.

D:-Return on investment ratio
MledHal @RMANODIOR! QITBBIMe

Correct Answer:- Option-C
Question41:-Master budget includes
20q@ eniggl@d 2u6njgMo

A:-Production budget
©@JOLBUM NIy’

B:-Material budget
eoglelocd g

C:-Sales budget
all@alm enimg’

D:-All the above
ABHEI AlOFDAUOWEII0

Correct Answer:- Option-D

Question42:-Transaction is referred as accounting purpose.

Ssalosleom @REVENELUY DERUWYe agiM Qllglanmo.
A:-Credit purchase only
@MW QIR 200
B:-A cash purchase only
SBT3 alfMo QIIEBBME Ao
C:-An economic event
6@ TLOMIOTIE MR
D:-A purchase of asset only
@RMLGIMBOO Q@RS 2O@o
Correct Answer:- Option-C

Question43:- is examining of financial information.
aaMIEDle: QlaiEERU aldleuwodllesam.
A:-Analyzing

alledeime ealga
B:-Posting of ledger
£IWRGIMe0 eadmlouy

C:-Auditing
aoculdlouy
D:-Journal entry
CBWEM@D ag)BS]
Correct Answer:- Option-C
Question44:- are obligations of a business entry.

8@ Nl agiBESles enIowmE:E06m.
A:-Expenses
©.2181QJd 03
B:-Liabilities
ENUOWIDBUB
C:-Income
QU@AIMo
D:-Shares
80a0@16:03
Correct Answer:- Option-B

Question45:- is the owners claim on total assets of a business enterprise.
M@ 8@ enilmilnqy agdodeseirumildec eacm. @rMle.slcd DSAMBEOS GOAUSOWAIIBR06T.

A:-Equity
oeidl
B:-Liability
ENIOWN®
C:-Cash
aléMo
D:-Drawings
GOl B (D
Correct Answer:- Option-A
Question46:- is also known as journal.
GREM@B )Mo EROIRIOAIFMR.
A:-Ledger
erIuRad
B:-Bank reconciliation statement
61108, @OPEETERM (@JTRIUM
C:-P & L Account
all & ag@d @REDeE
D:-Daybook
GOETYSS)
Correct Answer:- Option-D
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Question47:-Data is entered into journal in
wog ememelealds) m(ﬁ%.eﬂmﬂ%mg“.
A:-Alphabetical order
@RBHODILIG Do
B:-Numerical order
MUeEUG Do
C:-Chronological order
S0RIG Do
D:-Cost wise
.21010] @RMMVE] 4]
Correct Answer:- Option-C
Question48:-Fixed assets are held by business for
mudle @rmle:ud silmimay eesaiwes algldlesm
A:-Generating revenue
QITBRIMo DEMEIERMDIMIW
B:-Converting into cash
al6madss] aoQmM@Imowi
C:-Resale
demuaielmowl
D:-None of the above
QBHEIW AlOFTDAUOWIMRRGY
Correct Answer:- Option-A
Question49:-Total balance should tally due to the rule of
)M QUB BRIV 5] ORI ERILIBANY BEMEIEEMo
A:-Assets and liabilities are equal
(G’@ﬂ'g]ﬁ:%o ERIOWYD B0 DRIMENY
B:-Recording of all income and expenses
AR AUBEOMOTIBOHOQo H2ILIYSHSOSYo HOCLHIBUSUY
C:-Every debit has a corresponding credit
60600 eweidim. @rMENIML eI o6rE’
D:-Recording of all credit transactions
AR OGUIY S NGBEOSQo HOEEIBIouY
Correct Answer:- Option-C
Question50:- concept states that the owners are considered to be different from business.
@RUWo 9saHeg MMM Ml QTR HEMEIEBM.
A:-Going concern
@R URBICRIE Ealdd:m
B:-Money measurement
26 O2RORMO
C:-Business entity
enflondlnqy’ undalme
D:-Accounting period
@OEDEMEUY H0r18ql
Correct Answer:- Option-C
Question51:-All revenue incomes are creditedto __
ag)glo QIBAIMAOYe aM@ilealss’ H@WIY 6.a1Qeaqigam
A:-P & L account
all & ag@d @m0’
B:-Trading account
eSWlot) @REDENE
C:-Balance sheet
eruoaImBay’ caflg’
D:-Manufacturing account
2O alClot) @REDENE
Correct Answer:- Option-A
Question52:-Gross book value of a fixed asset is it's
8@ dlunlo @RILFBEO EROT ojTYe el @6
A:-Realizable value
@O0 galje
B:-Market cost
20807 e.ae1af
C:-Scrap value
aYoa] gele
D:-Historical cost
AIB@ale20® aflleial
Correct Answer:- Option-D
Question53:-The purpose of accommodation bill is ___
____ ammoem @oav enflafldeo oeguel.
A:-To finance actual purchase or sale of goods
MIWMEREeS VIN0B®A QosERellemo AlEBaRmME@IEMmd WMMANIe MPEMNGIM’
B:-To facilitate trade
QP10 MYUNBAOEBIN@ITY
C:-To purchase an asset
6@ @RMLY QUGB
D:-When parties are in need of funds
al0@G|BU3ES aN6ME @R AUWYSBEAIOUD
Correct Answer:- Option-D
Question54:-Which one of the following methods of inventory costing yields highest taxable income?
D@BeBOF earinlB@e0 oalaoQm dolegle gmoem aggaje 2B Mle:®l AImBaM. M@EM?
A:-Last in first out method
210qy’ e aoqy’ 893 @l
B:-First in first out method
a0y @ anqy &g Aol
C:-Average cost method
@R e£oMy @lol
D:-Standard cost method
oM’ 6B 0Ty @il
Correct Answer:- Option-B
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Question55:-Opening inventory + net purchases =
&0aemlet’’ adeaindod] + emg anenaeud =
A:-Closing stock
CROMIloy GTYILS
B:-Cost of goods available for sale
Aoy aig@o® muowmeanges allel
C:-Cost of goods manufactured
dldeglenan quowmemsges allel
D:-Cost of sales
Qll@ajm ealeial
Correct Answer:- Option-B
Question56:-The left side of an account is known as and right side as
B0 GREVENEIMOO SO QUUBo )Mo QURIDY QU )Mo @RAIe|gM.
A:-Debit, Credit
ewenllg, o@Ig’
B:-Asset, Liability
@RTVG, ENIOWLD
C:-Credit, Debit
@Y, eaweniy’
D:-Cash, Overdraft
aléMo, BOAIBEWIG
Correct Answer:- Option-A

Question57:- days of grace are allowed in case of time bills, for calculating date of maturity.
amméﬁﬂgl OO SHEMERIEWM @M B 6nil G &BOS & @3 dlamueEBud @pmaIBMl@aoem
A:-2
2
B:-3
3
C:-10
10
D:-5
5

Correct Answer:- Option-B
Question58:-Which of the following ratios are normally taken into consideration before sanctioning of a loan by a financial institution?
BB WM MNalMe Q1Y @RMAFEBMGINY QI Tlajo@M @RMAN®EREITE BOIOEDIET MVIWIEIMWIW aldlvemlesma?
A:-Debt equity ratio
oWy &g @RMA®.
B:-Liquidity ratio
allalasldl @emane
C:-Current assets to current liabilities ratio
dleialeal @oMleg. dlaaleal MOWmSBEeS @MY
D:-Stock turnover ratio
GO m’lgm@m’ @O0
Correct Answer:- Option-A
Question59:-___ shows the position of business at a specific date.
____ 6@ ddday olocidiea slmioqilden muoome s:oemlesme.
A:-Balance sheet
sruoaImBmy’ caflg’
B:-Trading account
eSWlot) @REDENE
C:-P & L account
all & ag@d @osmoeE’
D:-Cash account
500 @REDENE’
Correct Answer:- Option-A
Question60:- feature is not present in partnership type of business.
mafleea® adgmABnslla] @easiags snilmimmicd eey.
A:-Unlimited liability
alclwleilgpom sniowy®
B:-Creation by an agreement
8@ 95MIS] (@J&00e TYYlerdd
C:-Perpetual succession
WRIRIMDIW aflgdsd.ay
D:-None of the above
HE@D Al0OMAIOWITBAL)
Correct Answer:- Option-C
Question61:-If capital is Rs.65,000, liability is Rs.35,000, current assets is Rs. 30,000 then value of fixed assets is
geiwme 65,000 @y, eniowym 35,000 @al, dlaiaieal @omyil 30,000 @al @oeapud qude @oMleges gelo @Ry
A:-Rs.1,00,000
@.1,00,000
B:-Rs.70,000
@.70,000
C:-Rs.60,000
@.60,000
D:-Rs.1,30,000
@.1,30,000
Correct Answer:- Option-B
Question62:-If liability is Rs.50,000 closing stock is Rs.20,000 fixed assets Rs.70,000 current assets Rs.40,000 capital is
eniowy® 50,000 @al, egoavlewy eqyoes’ 20,000 @al, mudle @l 70,000 @, dleleer @pmd 40,000 @a eoesmaslad gaiwme @rRy6rD.
A:-Rs.80,000
@.80,000
B:-Rs.40,000
@.40,000
C:-Rs.1,40,000
@.1,40,000
D:-Rs.10,000
@.10,000
Correct Answer:- Option-A
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Question63:-The current ratio is 3:1 and the working capital is Rs.50,000, what is the value of current assets?
dleialloer @man®. 3:1 @ren, wadomm gaiwm. @.50,000, dealea: ermileges gele agmmosm?

A:-Rs.2,00,000
@.2,00,000
B:-Rs.1,50,000
@.1,50,000
C:-Rs.2,40,000
©.2,40,000
D:-Rs.1,80,000
@.1,80,000
Correct Answer:- Option-B

Question64:-The cost of goods sold is Rs.1,20,000. Gross loss is 25% of sales. Then the amount of sales is
allg mowmemges allal @.1,20,000. e200me Mayo allBajnes 25% @wem. @oeawd alddam @ @6,

A:-Rs.1,50,000
@.1,50,000
B:-Rs.90,000
@.90,000
C:-Rs.96,000
@.96,000
D:-Rs.84,000
@.84,000
Correct Answer:- Option-C
Question65:-Issue of debentures is a
BSoOTBGOS Loy B @6,
A:-Source of profit
210eEWIMe0 9oalse
B:-Use of cash
AlMOBIMBOO DaIEIN.
C:-Source of cash/fund
almElmeo/nedlmdeo poallse
D:-Source of asset
@pmudldeo goallse
Correct Answer:- Option-C

Question66:-If the average stock of a firm is Rs.80,000 and its opening stock is Rs.10,000 less than closing stock, what would be the value of

opening stock?

8@ MNIaIMEDMBe0 tedwdl exoe @.80,000, @R@IBe0 Boalelewy Gayoes
egoMlowy eqyosslemeoud @.10,000 soaneemellod, Boajemlu’ euoasideo gal agoiidlese.?

A:-Rs.75,000
@.75,000
B:-Rs.90,000
@.90,000
C:-Rs.85,000
@.85,000
D:-Rs.1,00,000
@.1,00,000
Correct Answer:- Option-A
Question67:-Capital =
QRIbMe =
A:-Fixed + Current asset
audles + mlaiclea @G
B:-Cash + Bank balance
aléMo + 6N108s eIoRIMBMY
C:-Total assets + Total liabilities
6200 @MYl + ©RITo NIOWITEHUB
D:-Total assets - Total liabilities
©200Me BRI ~ HBITo EUIWIDBLD
Correct Answer:- Option-D
Question68:-Goodwill is shown in the
@ ww all@d @oemlasmo.
A:-Credit side of trading account
Sl @REVINEMOO BB Qoo
B:-Liability side of balance sheet
snu0aIBmy AdlmBe0 eIowi® Qlwe
C:-Asset side of balance sheet
eruoaIBmy elldlmdeo @pmug’ aives
D:-Debit side of P & L account
P & L @oesmerdaden eawenld aiwwe
Correct Answer:- Option-C

Question69:-Which of the following depreciation method would be most suitable for coal mines?

HRDC QUTIBUBE @OOSJOQINAURIGE oGO GRIOmEA /@O aBQQe GRDEWOm?

A:-Straight line method
empeilg’ eeaind @l
B:-Written down value method
dlgem exwoend aely Aol
C:-Depletion method
Wlgfled @]
D:-Diminishing balance method
awldlrlasflovy enoaidmy’ @l
Correct Answer:- Option-C
Question70:-Income and expenditure accounts reflects
QEAT .a12IA] GEMERGUD [QUNT=INE=21 )
A:-Cash in hand
0 DB 00
B:-Capital available
QRIWMo LIRYA0ET
C:-Cash receipt and payment
B0 NI GalOQMQo
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D:-Surplus or deficit
gl @GREGEITS B>aal
Correct Answer:- Option-D
Question71:-Rajinder of Delhi consigned 1000 calculators costing Rs. 300 each to Maninder of Ludhiana. Rajinder paid Rs. 1500 for freight. Maninder
took delivery of the calculators and paid Rs. 1000 as carriage, Rs. 2200 as advertisement expenses. He sold 800 calculators for Rs. 3,60,000. He was
entitled for a commission of Rs. 24,000 for the sale of 800 calculators. The stock in hand is valued at Rs. 60,700. The profit for the consignment is
w@dadloleal eeflmd 300 @a aleiges 1000 sowdessaigecd awlwonalea acflmdln ee@acd]. elnd aeesla 1,500 @ m@s)l. arlnad @omaseaigqend eaealad]
021geQo gl 1,000 @Gaiws arauwyeiana 2,200 @Gaigs madel. 800 es@seseaigeevd 3,60,000 @iy aflg. 800 @omdsencaigeeud allg@im 24,000 @al
@aflamBaomoa. eeswlass eqyossiay 60,700 @aiwoeny aflal. alessdeo eoee @’
A:-Rs.56,000
56,000 @
B:-Rs.46,000
46,000 @a!
C:-Rs.92,000
92,000 @
D:-Loss Rs.30,000
30,000 @a1 moge
Correct Answer:- Option-C
Question72:-Extra commission that is allowed to the consignee if he sells the goods above a certain rate is called
8@ dlualo dlessld &gm@d MoWmERUd QleeRsInMEIT 2l Mlle:AEleBMWIdE @RMAIGERM @RWIG: dedflauem agan allglesme.
A:-Overriding commission
6003 660Uty BazlaHmd
B:-Adjusted commission
@D O]a] Hodlaumd
C:-Del-credre commission
OHWBB-O@WA Badlayd
D:-None of the above
QBEITB A0ATHAIOQOMoRS)
Correct Answer:- Option-A
Question73:-Del-credre commission is given to the consignee for
OWMB-OGWA HIFHUM  2IEE QIOBRMWIUBL MMHT
A:-Selling goods at a higher rate
A Ml muowmeBRud alladesmo
B:-Bearing the risk of bad debts
HIFOMSETBEOS @OAIBSTVIWYD QlaGlERM
C:-Selling goods at a rebate
Alesnigdlad muowmesnud allwdssmoe
D:-Consigning goods at a higher rate
@AM WleEIG MIWMEBRUY HOBAOQYMD
Correct Answer:- Option-B
Question74:-Find out the surplus or deficit from the following income and expenditure items of Gymkhana Club.
Expenses on upkeep of ground Rs.10,000
Printing Rs.1,000
Salaries Rs.12,000
Rent paid Rs.2,200
Subscription received Rs.18,620
Sale of old newspapers Rs.160
Miscellaneous income Rs.3,600

&losuom genlla8e0 o@lojoRm aieAl e.aeial eomeBgled mlar dlajend G:oalewd GEMMREDS:.
@6 aldlaleimomlnss eareil @.10,000
@43 @.1,000
wmigs @.12,000
anss n@msloo @.2,200
ausnimylaleua’ eidlgo’ @.18,620
@ al@anges aldqym @.160
aflalw asacm. @.3,600
A:-Surplus Rs.5,640
dlaje 5,640 @al
B:-Surplus Rs.2,820
Alaj 2,820 @a
C:-Deficit Rs.2,820
sl @.2,820
D:-Deficit Rs.2,660
s @.2,660
Correct Answer:- Option-C
Question75:- is nearly summary of the transactions appearing in the cash book of a non-profit organization.
af)M@ B@ MM Geoadly FIBNOOMETVUMOO B>50Y LB FUOYRIBM DSalNGHGOS  MoWaOBOE.
A:-Receipts and payment account
RMI@Hg0 GalQ@MA @D
B:-Income and expenditure account
QIEAT 6.21010] @REDVENE’
C:-Trading account
esawloty @REDENE
D:-Balance sheet
eruoaImBay’ caflg’
Correct Answer:- Option-A
Question76:-Expenses which are revenue in nature, but the benefits are likely to be derived over a period of 3 or more years are called
QITBDIMo TVIRIAIPSS O2LIYMHUD aglTITB 3 T4l feiuwle:en I @3 @RM@elEERUd 2IElEHIM MLOWITYSSDRIW 6 ILINGOS agom’ allglesmo.
A:-Capital expenditure
Qeiwm eareial
B:-Working capital
(QQIBEDM WMo
C:-Revenue expenditure
oaimy ealelal
D:-Deferred revenue expenditure
20gl601 oaimy ealolaf
Correct Answer:- Option-D
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Question77:-Statement prepared to check the arithmetical accuracy of the books of account is a
GRHVEE YSBHEOS VIO BHOYO alElEUeIWIEHIM GYIOILHIW @TRIAUM 6T @6
A:-Trial balance
SQ@3 sriopImBamy
B:-Balance sheet
sruoaImBmy caflg’
C:-Ledger
erluRad
D:-Cash book
@0a 6N
Correct Answer:- Option-A
Question78:-Closing stock is recorded in
GOl GIYOES @ 6O FOTIRIGETE.
A:-Trial balance
S@®3 NI0RIBIY
B:-Journal
GmEMN@D
C:-P & L account
afl & ag@d @eDeE
D:-Balance sheet
eruoaImBay caflg’
Correct Answer:- Option-D
Question79:- is an example of long term liability.
dldeaisoal MIWIOQSS B DBIAOEMAIET.
A:-Debentures
BSaf@6ERU3
B:-Buildings
OdSlSEERUd
C:-S Creditors
aflaflw &senod
D:-Bills payable
@RSCREMN snﬂ%ia:uﬁ
Correct Answer:- Option-A

Question80:- is an examples of current liability.
af)Mm@ dlalallen! RWIdQeS BT OEIANEMAIENTY.
A:-Shares
60a001B U3

B:-Outstanding expenses
SSIEHQSS ©a10I0)B 08
C:-Capital
QeIwmMo
D:-Drawings
LAV SHIENT)
Correct Answer:- Option-B
Question81:-Cost of a machinery as on 1-1-2005 was Rs.12,000. Depreciation is to be made at 10% on straight line method. The machinery was sold
on 31-3-2006 for Rs.11,000. Find out the profit or loss on sale of machinery.
1-1-2005 eear @smenmaudlyl 8m @@aovidec ol 12,000 @Gawodiame. oy e eacoma @omemidlal 10% geaiomeadq msomeme.. @@mvoawlswd 31-3-2006-aF
11,000 @aig oﬂg. @@mom@@ges all@qjmailenl 20EMaYe HOMMBID,.
A:-Profit Rs.470
anee 470 @
B:-Profit Rs.1,000
ene. 1,000 @a!
C:-Loss Rs.2,400
Mo 2,400 @i
D:-Loss Rs.940
mage 940 @
Correct Answer:- Option-A
Question82:-In a hire purchase transaction the ownership of goods is passed to the purchaser or hirer ____
6@ QUOSH QUIEERMS ESaloSIEd MLOWMEBIBSOS PSATVOOIB:IUBo QUOBRM@OUBEEI &llEnIREmMI HOBAIQYIMND
A:-Immediately on signing the agreement
#033 6afls @M
B:-On payment of first installment
@RBY DU GRSQYEMIIUS
C:-On payment of final installment
@RAITVIM DY @RS 50T
D:-On giving postdated cheques
GalTY-EGAQ ©aIERBU8 M@IB:EMIU3
Correct Answer:- Option-C
Question83:-Calculate the amount of commission in the consignment sale noted below:
Sachin consigned 600 bicycles to Rajan costing Rs.1,000 per bicycle. Rajan sold 410 bicycles for Rs.5,50,000. He is entitled to a commission of 5% in
sale at the rate of Rs.1,250 per bicycle and 25% of any surplus price realized.
©96% EEaIOFOTIRIElERM alees alldomeieal &:odflaumd @& HEMEIERS:
8@ eeruasigny 1,000 @a! alleiges 600 ©omuEsIgegoa malm, o=y M@ 410 ©omMEIged 5,50,000 @aigosn 0omd algw. eemuseslegoariay 1,250 dlessied
all@ajniad 5% soflesite. @l@laidlonm ageoms dlayolleiges 25% @arflam. @P@IUBEY @RAOWQSNE.
A:-Rs.70,000
70,000 @
B:-Rs.35,000
35,000 @a
C:-Rs.25,625
25,625 @
D:-Rs.27,500
27,500 @a
Correct Answer:- Option-B
Question84:-Expenditure incurred for initial construction of a building like plumbing and electrical labour are treated as
qotnllo), eIRlH@ adRBHWB @SEHY GG HB:SISETIMOO (JO.E MBEEMEBIY eenEl AR Haleial @RI HEMENIERMO.
A:-Revenue expenditure
oaimy ealelal
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B:-Deferred Revenue expenditure
20¢leq1s oaimy ealeial
C:-Capital expenditure
QeIwm ealelal
D:-None of the above
QG AlOFOMAIOWIMRAG)
Correct Answer:- Option-C
Question85:-In a journal entry 2 or more accounts are debited and only one account is credited or vice versa, such entry is termed as journal
entry.
6@ eREM@ a(BSIICB EEME0 EROIRIWIEEN) GOHIENEHUB HAENIY 6.2 IFEMMD B EOEDEE 2DED HGWIF O2IQONSHQYSS EROYBIM Gl6laj, @OEmO. ahMBElo®
€BEM@D af)MS] agym aflglesam.
A:-Compound
CHIOMIDENE
B:-Contra
GHHOEMBSI
C:-Debit
ecwsnilyy
D:-Simple
aigdloo
Correct Answer:- Option-A
Question86:- account is prepared for calculating the gross profit or gross loss.
6200 LG @ROYBITE HAIT Moo HEMNENIEBMDITY @OEDENE @@ooo:ﬂsﬂmﬂ@sﬂzﬂ
A:-Balance sheet

all & ag@d
C:-Trial balance
SQO3 srIoaImmy
D:-Trading
QIY0al00
Correct Answer:- Option-D
Question87:-'A' draws a two months bill on 'B' for Rs. 10,000 on 1 July 2015. The maturity date of said bill is
2015 meoa 1-a7 ‘A" 'B'-@3 eere a0amvemm enflgf 10,000 @iy aggesan. o emiigldeo @oanas @rRyeM.
A:-August 31, 2015
sonqy 31, 2015
B:-September 1, 2015
emoalgesnid 1, 2015
C:-September 4, 2015
emvaigesnid 4, 2015
D:-October 1, 2015
aegoenid 1, 2015
Correct Answer:- Option-C
Question88:-Bank reconciliation statement is prepared to
61108 @OTOEERM (@JTPIQUM OQIOOIEBMND®
A:-Ascertain that the records in book of account pertaining to bank transactions tallies with that of lists maintained by bank
61108 EDSAINFBOSB MVENIMUIERIM BREHDENE EYESINRI CRAIGUD 61108 aldlalelesm eﬂr&s@;gmo«v’l HNBODOIGMOHENEM QOOERS
B:-To apply for overdraft only
BOQIBEWIHIT 20@o @RGAIG LD
C:-To ascertain the interest of loans availed only
2RIV ANQYH:OS alelltd I@e GEOMRBIDMIM
D:-None of the above
HEI@D Al0OMAIOWITBAL)
Correct Answer:- Option-A
Question89:-Which of the following is not a business transaction?
DMlajoQMAIRIEE a@g@oen snladlmay Sas @ogPEm®?
A:-Bought furniture for office Rs.5,000
avadlmleals’ andenlajQeud anadloo 5,000 @a
B:-Paid salaries to staff Rs.20,000
lam®ades Mm@ wmig. 20,000 @a:
C:-Paid rent of office building Rs.3,000
60040V OBglsonlmen @osy aose 3,000 @a
D:-Purchased an almirah for personal use Rs.2,500
ABDIN® DaeonoBimoe 2,500 @y 8 @ocddlo anmEloo
Correct Answer:- Option-D
Question90:-Which one will be a capital expenditure?
RO PRILM e.aieIl?
A:-Salaries and wages
WMUBQYo BAUDMQYo
B:-Rent paid
QUISH (GWS_A-%
C:-Labour and spare parts charge paid initially to fit a second hand vehicle included for business
enflndlmqilmoll edeqjsoTilalElenmm emuema’ anoadau’ aanme caislaflesmalm’ ecanid, HIYWA aNBSMY 23R H:W8 DSOS @0Ss).
D:-Painting of office room after 2 years of use
2 QIBOOD PalE@INOTIM EUoato Badm golyes OalRlmcluy
Correct Answer:- Option-C
Question91:-On 1 April 2017, machinery was purchased for Rs.50,000. Depreciation is to be charged at 10% PA on original cost method. The amount
of depreciation as on 31 March 2019 willbe
2017 agefcd 1-a7 50,000 @aigf @@moayileud e, @nodmn eaeial dololed 10% PA mosoes.. 2019 adsi 31 eal gaiomedses @ cooldes..
A:-Rs.7,000
7,000 @
B:-Rs.6,000
6,000 @a!
C:-Rs.5,000
5,000 @
D:-Rs.2,000
2,000 @a!
Correct Answer:- Option-B
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Question92:-Choose the incorrect equation?
OMQIW MIBANB TIEOEDGERE>
A:-Assets = Capital + Liabilities
@RS = gaiwmoe + WO
B:-Capital - Liabilities = Assets
QRIWMo ~ ENIDWIOEHU = @RMIE:03
C:-Liabilities = Assets - Capital
MOWIOBUWB = @Rl - gaIwme
D:-Capital = Assets - Liabilities
QRIWMe = @RMYIBU ~ ENIOWIOE:0B
Correct Answer:- Option-B
Question93:-Cash taken by the proprietor from the business should be credited to ____
enflndlnqfled aflon’ @samuom aggoD aléme _ cales 6@WG 6.a1Q6moe
A:-Capital account
QEILM CREDDENE
B:-Personal account
QBTIN® @REDENE
C:-Drawings account
CWOIIloUY @REDENE
D:-Bank account
61108 @OEDDENE’
Correct Answer:- Option-C
Question94:-Those expenses for which the benefit will be available in the subsequent accounting year are called
©SAMB8 BREDENELYY QIBUOTIT @YWL LIBAIEMN O2lLIGOS agyom’ allglanmo.
A:-Outstanding expenses
SElHQEs 6.aleq)e:ud
B:-Unpaid expenses
@RSEITD 6).2I0IQYBUB
C:-Prepaid expenses
@fOaIW ©.alRIydud
D:-Preliminary expenses
@Jonaile: &a1RI0)Bud
Correct Answer:- Option-C
Question95:-Furniture was purchased for Rs.1,00,000. It was depreciated at 10% PA under written down value method. The balance carried down
after 3 years will be
1,00,000 @a1gosny an@emlaiqeud anmdloo. coaniogeiges goly dlolles’ #l¢lod eoo) aid Ay 10%
A:-Rs.80,000
80,000 @
B:-Rs.72,900
72,900 @
C:-Rs.17,000
17,000 @
D:-Rs.64,000
64,000 @a
Correct Answer:- Option-B
Question96:-Sales = Rs.30,000, Purchases = Rs.18,000, Freight = Rs.2,000, Closing stock = Rs.6,000, Opening stock Rs.5,000. The amount of GP =

Qely @) MSODI. 3 AUBUOIP CLRHYSE ENIOES] DB @RQI@lEs0.

all@ajn = 30,000 @al, anesaewd = 18,000 @, aoe = 2,000 @al, egoadlaey eqyoss’ = 6,000 @al, 80qjemlewy eqyoss’ 5,000 @l e200m a0 @8 =
A:-Rs.11,000
11,000 @
B:-Rs.13,000
13,000 @n
C:-Rs.15,000
15,000 @
D:-Rs.12,000
12,000 @n
Correct Answer:- Option-A
Question97:-Net profit is computed in the _____
@PQIGIWo @3 SHEMENILBA.
A:-P & L account
all & ag@d @REDeNE
B:-Balance sheet
sruoaImBay’ caflg’
C:-Trial balance
SO sriopImamy’
D:-Trading account
esWlot) @OEHDEME
Correct Answer:- Option-A
Question98:-If a trial balance total do not agree, the difference will be entered in
S NI O lod cwosdlenmileg@lad, aymypMo -@ N@RBOGo-
A:-P & L account
all & ag@d @REDeE
B:-Capital account
Ballgod @R
C:-Trading account
sty @RENDENE
D:-Suspense account
TUOTYMBTY GOEHVEIE
Correct Answer:- Option-D
Question99:-Which is not a limitation of financial accounting?
adflmomBauymd @oenDEluildeo aidldlol @oeEm® agmosn?
A:-Inadequate information to fix up the price of products manufactured
2@ajodlaflenm Do MEEBEOS alle) Mluneleamalngs @oaleq@® alaesarud
B:-Lack of data for comparison of cost of operation of the firm with other forms in the industry
QQUMIOTIEE! 8¢ BalEBEER0W] NN IMEBIBE0 JABGTMEe 4RIl IR O2IPMGIWEE WIGYSS @OEI
C:-The data available is historical in nature
SIS} (\DOQ nJ(b’]@nJ@ﬂO@ LIROQURIE
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D:-Complies with various legal requirements
aflailw Cleaae20Q ERYAUBKB®BUB alelesmo

Correct Answer:- Option-D
Question100:-A contra account is used to
Af)M@ITY B@3 CHIMVESI @REVEHNE DalCWOUTERMD
A:-Offset the balance of another account
26Q0T @OHVEEIMHO ROLIMBMY 6060Q7" 6.21Qd:

B:-Increase the balance of another account
26Q0@ @REVMEMOO snoaIBmY aIdeUlafese

C:-Decrease the balance of another account
26QI@ GOHVEEMOO IIBMY H0RH

D:-Reverse the balance of another account
26Q0T EREVEEIMHO eIBMY dlealg’ ©a1ge

Correct Answer:- Option-A
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